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Match the following

List - I List-1I

A) f:[R— Ris such that I)  fis neither one-one nor onto
fxX)=px+q p#£0)Vxe R

B) f:R— R U{0} is such that ) fis both one-one and onto
f)=x*VxeR

C) f: N — N is such that IMl) f1s one-one but not onto
f=nw*+2n+3Vne N

D) f:[R— [Rissuch that IV) f1s onto but not one-one

f(x)=2(cos?*5x +sin?5x) Vxe R
V) f1sa constant function and also
a bijection
8ol TR 2SLEOWIEWD
e -1 e -11
A) fRSRe3I6 f(x)=px+q @p#20) D [fokiher s, Sofiddor s
V x € Redgbinr od
B) f:R— R U{0} e f(x)=+ ) fedksshr o005 Sofssn srar
V x € Rod@ogbiinr wob
C) f:N-> N3 f(n)=n*+2n+3 ) fedEsn, 50 JSo@dsn 57
Vne N odgbinm &od
D) f:R—- Re3d f(x)=2 (cos?Sx+sin®5x) IV) fHoidsmn, s oIEI0 576
V x € Redogbotnm &ob
V) fof 8 @doohin HOuw o
Gotbeo KPochdn Sorw
The correct answer 1s

HOGSH DBrPTHH00

Options :
8 B3 £ D
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Question Number : 2 Question Id : 1874634642 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

a—]x]

The range of f(x)= sl .(a>0)is
f(x)= cinit (a>0) B0g, 7752
(a+1)—|x]| o
Options :
. [0. a]
a a
iF bl _.{ _ }_
| ) a+l a+1
a
0. 1, o0
a+1 U( )
3.
0;..]—#1
a+l
4.

Question Number : 3 Question Id : 1874634643 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

23254 otk 335 dind 34 L300 g l(pr' + 37 ) .where k. 7€ Z™. then (p. q) =

*

k.ten éé“@‘cﬂﬁuéﬁmm €9 QD Vi 2-42“1 +33k+1 =117 06
| 2k+3 3k+4 ~q . o

.1. & — | . 'W| o

2-4 +3 —ll(pr+:r ) ©oX03, wdyd (2. q)

Options :

[ ]
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(16.3k+ 1)

(16. 3k +4)

L3

(32, 3k+ 1)

(32. 3k + 4)

Question Number : 4 Question Id : 1874634644 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The equation obtained by eliminating a. 4. ¢ from the equations

.T=L. Y= a Z= S
b—-¢ °~ c-a a—b
x=—0 =0 o em shokdesne 508 a.b co S*DosED coids
b-c¢c  c—a a—b
Qe B Y000
Options
j l =X X
1 =y v|(=0
: 1 =z Z
1 —x X
1 1 —-y|=0
| Z 1
1 —x X
1 1 —-y|=0
-z Z =1
3.
% 1
v x 1{=0
A 1 =X 3
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Question Number : 5 Question Id : 1874634645 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

IfAisa3 x 3matrixand |A|=2. then |Adj (Adj A)| Adj(AdjA) =

Ae¥ 3 x 3 5@ 50050 |A|=2wand, edyd |Adj (Adj A)| Adi(Adj A) =
Options :

132A

. 64A
16 A

SA

Question Number : 6 Question Id : 1874634646 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If x=a.v=/f.z=y is the solution. for the system of equations
2x—y+8z=13

3x+4y+5z=18

S5x—2y+7z=20,

then aff + By + yr =

2x—-y+8z=13

3x+4y+5z=18

5x—2y+7z=20 & SEsD SgSH8
x=a.y=B.z=y 355 vond, ol
of + By +ya=

Options :

]

12

[ ]
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Question Number : 7 Question Id : 1874634647 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For a complex number Z=a+ib.let Z= b+ia.If Z,. Z, are such complex numbers. then

Z;Zz =

28 H08g Dopg Z=a+ib &, Z=b+ia ©NFomo. Zy. Zp o veorol faugg ROPILO

WO, oD Z,Z, =
Options :
| ZI Z}!

NP

2

2. Z

Z,

NI

1

. &
4I 1 F

Question Number : 8 Question Id : 1874634648 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The points in the Argand plane represented by the complex conjugates of
1+2i.2-3i.3-4i

sfol oo 1+ 2i. 2 - 3i. 3 — 4i HodhYho BwE, $o8Y Sochomed drdodwd
DodoHew

Options :
are collinear

SoDadren

form an equilateral friangle

@E JDE T (B Dd&d&@m

L2
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form an obtuse angled triangle

a8 D68 B 5T 0w

form an acute angled triangle

08 ©J08n BgHard) JEyToN

Question Number : 9 Question Id : 1874634649 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If L&y @,..... &,y are the n'™ roots of unity and » is an even natural number. then

L. ag. @..... @1 @0 8o Qo§), n S Boreres ©IHEr, n e 0 JTradopy B,

*

(1+a)(1+ @) ... (1+a, ) =

Options :

, 1

-1

12

2

Question Number : 10 Question Id : 1874634650 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

| . | 1
If v+—=2sina and v+—=2cos [ . then xy + .~
X 1% ' e
: : X7y
Y. T TR e W 8 £
X+—=2sin@ 5050 y+—=2cosf wond, odyh 'y +—55=
- y Xy

Options :

1 2cos3(f-a)

2cos3(f+a)

2

[ ]
gcollegedumaa
India’s largest Student Review Platform

el



: 2sin3(f-a)

3(f+a)

Question Number : 11 Question Id : 1874634651 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the product of the roots of the equation x> + 4kx + 1238 _ | =0, (k> 0) is 323. then
the sum of 1its roots i1s

X%+ 4kx + 128 — 1 =0, (k> 0) &3 SEd0sn Rog), Srore ©go 323 woa0d, o
DrOrY IS SW
Options :

Ok
1

L2

Question Number : 12 Question Id : 1874634652 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. . » . . 0]
If @ and b are the maximum and minimum values of the quadratic expressions 1 —2x— 5x~

and 1 — 2x + 5 respectively. then the set of all values of x for which the expression
Sax? + bx + 7 is positive. is

a.bed 3565 1 —2x— 512 0050 2 —2v+ 53 3§ dS5rddne 008, ﬁ&a SleTovtt

4

SR DenSwond, Saxt + bx + 7 o3 35rH50 o éémcﬁasabéa, GOo3 ©d) X Jendo
POPNT

Options :

(a. b)

12
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Question Number : 13 Question Id : 1874634653 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

X + X+ - :
If o | < 3 for all real numbers x. then the range of the parameter £ 1s

‘1 +x+1

. x° +k\+1‘
V) TIVVOPFLD X OV 5
- i +1+1‘

woNd, Ho°WS k R, Tg

Options :

(0.4

(-1.5)

L2

. (4.0)

Question Number : 14 Question Id : 1874634654 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Let a. b. c. d € R. If the equations 2bx” +3cx—d =0 and 2ax? + 3bx + 4c = 0 have a

4bc+ad  bd +4c’ "
commeon root and = .then k=

k(b:"' _m?) 4bc+ad

a.b.c.d e R odfomo. S0€8eren 2bx> +3cx—d =0. 2ax2 + 3bx + 4c = 0 0% 2§

1 g
. 4bc+ad  bd +4c” s
GG WIVO & oo, = WONS, WIYED k=

k(zﬁ —gc) 4bc +ad

Options :

| \©O
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Question Number : 15 Question Id : 1874634655 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If all the letters of the word REPEAT are permuted 1n all possible ways and 1f the six letter
permutations thus formed are arranged in the dictionary order. then the rank of the word

REPEAT 15

REPEAT 03 3606'0 o) ofTrod EgRosd) 5meum Bdo S0S5yd 63 o)
s ©50re PFTT O IWotny EDosS” @B, wdyd REPEAT 3 Hdo Gy, §¢E

Options :

1 133

-2
rJ
@)
|

Question Number : 16 Question Id : 1874634656 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

15 persons are sitting around a circular table. The number of ways of selecting three persons
at a time from them. such that the selected three did not sit together at one place 1s

wf SyEFS we hby 15 H0d Sghes SR Sa®. T0 $08 LI S
SgBosn, 6 Sufdr wBTL SOVEr GJHTNT SR0E GodLin, IN)FRIR
QT éumg

Options :
| 455
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Question Number : 17 Question Id : 1874634657 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

If the coefficients of 7® and (7 + 1)® terms in the expansion of (1 + x)** are in the ratio

12 : 13, then 7 1s the root of the quadratic equation

(1 +x)" D550e5* 115 5080%0 (1 + 1)5 HSSwe BwE), HeeSoes 12:1

@iy 1o Srodomr KOAS 5% DEGea S0

Options :
P -5x+6=0

2—-11x+30=0

L

¥ —14x+13=0

x>—14x+24=0

ﬁt’.ﬁ* & 08,

Question Number : 18 Question Id : 1874634658 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

2 3 :
2 3302 1-3-5( 2 1
emdea b S e T e x4—=
If x [q) 31 (q) then H-.r

- -

R L) I ——
3 2V 3N %D - X
Opt_iuns:

1++/5

4
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Question Number : 19 Question Id : 1874634659 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The coefficient of 1* in the expansion of . 1S

(1—x)(1-2x)(1-3x)

1

(1-x)(1—2x)(1-3x)

Options :

| 602

R0, DZGS® 1 Bog), Koegdn

Question Number : 20 Question Id : 1874634660 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If tanA —tanB=x and cot A—cotB=1y. then‘cot(A—B) =

tanA—tanB=x 50050 cotA—cotB=y wond, wiv cot(A-B)=

o

Options :
Xy
XT ‘1'
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XV

) .T—_'l'
X—v
XV

3. -
Y-

4 N

Question Number : 21 Question Id : 1874634661 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T 2 A
tan—+2tan—+4cot—=
5 5 5

Options :

V.4
cot—
q

12

Question Number : 22 Question Id : 1874634662 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

.. B4 J3-1
Ifsinx+smy= g and cosx+cos y =———. then

3y =¥ af Xy
fan (— +tan- [ ; ] =
2 2

. - ey J3-1
Slll.T']‘Slll_TzT ol U OO0 COS.'\"I‘COS.T:‘T {.EUJJa.

ol X—y 2 x+y
tan (— + tan [ : J =
g, 2

12

3
A
)
ga
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Question Number : 23 Question Id : 1874634663 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In A PQR. let IB > Ig If the radian measures of IB and Ig satisfy the equation

4sin® x—3sinx+a=0. 0 < a < 1. then the radian measure of ]E 18

APQR &* [P >|Q wiosomo. |P $:0050 |Q © 3805HS Fodew 4sin’ x—3sinx+a=0.

I

0<a<l 3Edrd) PS50, [R Bog), 38oHS Fod

Options :
T
=T

D

-

N

!-J

NP

Question Number : 24 Question Id : 1874634664 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. , by - T .
The solution of the equation Sin~'x+Sin™'2x == is

-

Sin~lx + Sin_li?.x =

T
— JEGHN Do), J;ES
3

[ ]
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Question Number : 25 Question Id : 1874634665 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If—£<9<£.then log 'ran[£+£] =
2 ” 4 -

T ; A
——< < — ©wod., vdv log tan(—-}—— =
;. 2 " 2
Options :

Tanh™ ( tan g}
1.

2

2Tanh™ ( tan E

= o)
Coth™ tan—}

Question Number : 26 Question Id : 1874634666 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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g : _ a*+b .
If ABC 1s a nnght angled triangle with 90° at C and @ > b. then 3—625111 (A-B)=
a f—

C:ﬁé 90° 208" ABC .8 vob'e @020 00050 a > b wand, @53&33

T sin (.A— B) =

L2
[

D |

Question Number : 27 Question Id : 1874634667 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

a. b. c are the sides of a scalene triangle ABC. If angles o. f3. y lie between 0 and &t such that

p 2 Y _

a 5 £F .
. COSﬁ = and CoOsy = .then tan™ —+tan™ —+tan™ — =
b+c c+a a+b 2 2 2

CosxX =

a b
.cosfB=
b+c c+a

a.b. c e 28 DEBordv @ghadn ABC Gwog) ghadven. cosa=

c 2 .
$o0csw cosy= - odgltnr a. B. Yoo 0. To &ges™ §'ib0ds,
2 U ) P 2
tan™ —+tan" —+ tan
2 2

1 [N

(B

12
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Question Number : 28 Question Id : 1874634668 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In triangle ABC. ifr;,=36.7, =18 and ;= 12. thena + b=

8zhadw ABCS* 1, =36,1,=18. 1, = 12 @008, edvd a+b=
1 3 o

Options :

. 36

L3

Question Number : 29 Question Id : 1874634669 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If .. B. yare distinct real numbers and & + 8 + y # 0. then the points with position vectors

ai + B+ Yk. B + vj +ak and 77 + a7 + BF are

o .y YW 788 Sopgeo H0WMN a+f+y#0 vond, 1a?+ﬂf+}'7c_.
| Bi +yj+ak 58050 Yi+aj+ Pk o3 IS 8IS’ 0B DocdPen

Options :
collinear

SOD ST eD
i

vertices of a scalene triangle

DR T (@ T

1
L
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vertices of an 1sosceles triangle

r

-

Qb TY (@ghe YT e

vertices of an equilateral triangle

P TY | 0°en

Question Number : 30 Question Id : 1874634670 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Given three vectors 7 =2i — j+k. b =i +2j —k and €=7 + j —2k . a vector in the

plane of » and ¢ whose projection on @ 1s of magnitude

e
——
o

Sordhs HBFew G=27—j+k. b=7+2] -k Ho0a5» =7 +]7-2k o a%,

, ; 2
DOBY ¢ v F0oS” Golwr, a R }- JBBr0 Ko JI8J0& oA w8 6%
Options :
27 —F45k

1

27 -37+3k

Question Number : 31 Question Id : 1874634671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

_— —

a=3i+j—k.b=i—-4j+5k. =4i +5j —k are three vectors and a vector 7 is

perpendicular to both the vectors » and €. If 7-@ =9. then 7 =

a=3i+j-k.b=T—-4j+5k, C=47 +5] -k o0 Sor& %0 0000 F &3 H6¥

gcollegeduniaa
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. C @ 0080858 020 Gotnod. 7F-0=9 o0s3. @53(25.3 o=

Options :



3 —j+Fk)
 9G-F-F)
N 9(G —j+k)

Question Number : 32 Question Id : 1874634672 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

AB=7 and AC=D are the sides ofa AABC. P is a point on AB and Q is a point on BC

1 B 1 , , . - A
such that s and et B . If the point of intersection of AQ and CP 1s D and the area

5 o 2

of ABCD is 7 square units. then the area of the A ABC (in the same sq.units) 1s

S|
Y
>
%
A
’

o
i
£

AB=7 %850 AC=

AB 3 P%005» BC D Qen 3ok DodoHen. AQ. CP o pods Dok D 58050
ABCD Gw¥) Iogo T H5669 dhrdin @ond, A ABC Gws), I7ogo (3 S ohordies?)

Question Number : 33 Question Id : 1874634673 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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If G=7+j+k.b=i+j+2k and ¢=27 +37+4k then the magnitude of the
projection on ¢ of a unit vector that is perpendicular to both 7 and ‘5 1S

a=1+j+k.b=7+j+2k, ©=21 +3j +4k wwd, ¢ D 7 50050 b o Bodoi3s
VOO woB &8 drdd JHT JIBHo B, HBBTBD

Options :

1
2

\O

3

L2
o

ﬁ.—
oo

L]

2
\O

Question Number : 34 Question Id : 1874634674 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

——

> b + = ¢ . then the angles between

o 8 | e e G e
It @. b.c arethree unit vectors suchthatGX(b ><c)—

al

. b and a. ¢ respectively are

Options :
1 60°. 30°
120°, 30°
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60°, 150°
3.

120°, 150°
4

Question Number : 35 Question Id : 1874634675 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The variance of the following data 1s

& (ol daroddn Qg JIJE

-
2
o
&
A
o)

1
o0
\O

10
10

X

a | 4

9
s
a
A
o)
-1
(.8
\O

Options :

10

12
O

Question Number : 36 Question Id : 1874634676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The coefticient of varnation of the following distribution 1s
Class interval 0-5 5-10 10-15 15-20 20-25
Frequency 4 1 10 3 2

& 1808 JPBI0 tﬁl}é& DI TTOE W

SONE LOBI 0-5 5-10 10-15 15-20 20-25
D RN G0 4 1 10 3 2
Optiuns:
254/139
12

gcollegeduniaa

el



]
‘N
—
(s
o

!-J'

Question Number : 37 Question Id : 1874634677 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
From a group of 50 students. two sections comprising of 20 and 30 students are formed. If
Ram and Rahim are two particular students among the 50 students, then the probability that
they both belong to the same section 1s

50 $008 TG

!
@

O S0mrao $od 20 Sodadn 30 H0d ITghen o Tok SFHoo
QHETH. & 50 H0b TGRS TH, rdoer G IJoFRES ITgRo0nd,
e GG o8 PSS DobITT Godirds Ko JSogrdgd

ol
Options :
25

T

—a
tJ

(B
(J

12

Question Number : 38 Question Id : 1874634678 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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1 1
IfE, and E, are two events of a random experiment such that P(E; )=§ P(E1|E2)=§.

P ( E, | E, ) =% . then match the items of List - I with the items of List - II.

| 1 o 1
P(E1)=—8—. P(E1|E2)=;. P(E3|E1)=Z ocogtatn E;. Eyeon af asrd)RE @armios*d
Boh Ddrden and, ¢8-I S WoTO SG8-1I S woTod 2E8TV0s.
List-1 List-1I
588 -1 5838 - 11
| 3
4y HE) ¥ B
| .i
B) P(E,UE,) ) 5
T i
) P(EE,) 1 3
hise. 26
D) P(E|E,) M 29
. 1B
V) 59

The correct match 1s

DOGS £°8
Options :
A B £ B
I Im v I

5
= I
=10
< [

[ow
o)
|w
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Question Number : 39 Question Id : 1874634679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A Box B contains 3 blue balls and 6 red balls. Another Box B, contains 8 blue balls and *»’

red balls (» € N). A ball selected at random from a box 1s found to be red. If p 1s the
probability that this red ball drawn 1s from box B,. then

Bjod DBS' 3 0F0i wodhen 0 6 IHPHToid woden Fod. HODwE 2B
B,e&5* 8 Q080 H00ain ‘i’ A80HJoid (1 € N) 2o0éen §05). d&?dﬁa&t}ém.? w8 F
0D JOHEN) wE w08 IHNYToH 08 B BOVID. GV IBYToid 208, DZ B

008 5Ty Sogrdgd p wowd, vk

b2

&

L-2

Question Number : 40 Question Id : 1874634680 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

From a bag containing 4 white and 5 red balls. if 3 balls are drawn at random. then the mean
of the number of red balls among the balls drawn. 1s

4 BoQ, 5 B wodend) wE Sod Hod IBrSyMEor 3 wodhod &, olr 823

—

O0HOS", JPBIV0BDO Vopg FBE), P00
Options :
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Question Number : 41 Question Id : 1874634681 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

If the mean of a Poisson variate X 1s 1. then

== ]

S —1P(X=r)=

r=0

<

28 Fowrs doord X Ang @of o¢gioo 1 wond, edyd

Py

D [r-1p(X=r)=

r=0

Options :

;2

12
o

D |

|

Question Number : 42 Question Id : 1874634682 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

collegedunia:

India’s largest Student Review Platform



A line moves such that the portion of it intercepted between the coordinate axes 1s of
constant length a. then the locus of the mid point of that line segment is

o8 O, ©d JrdsEo fmcﬁg 236363 wodd pod o a8 %6?_3&5 >SN a N §OH
ﬁuéé&é.:g, BOJr 408, & T oo GRoog), Dododdo

Options :
9 2
A y 2
+ =a
4 4
1.
o
C4yi=d’
/8
:,I_
2 a
X +y =—
3 4
2
2 2 _a
X +y =—
' 2
4.

Question Number : 43 Question Id : 1874634683 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If (/. k) be the point to which the origin has to be shifted in order to get the transformed

: 2 2 ;
equation of v~ —4x+6v+17=0 as v~ =4ax.then h* + k> =

v —4x+6v+17=0 BwE), HOBYS DD Be B0 -_1'2 =4ax ™ $IFIE JrododH
(h B) 3 Do SE8 SrdySedsh, i +ik=
Options :

;

L2
[

()
h

pe e
J
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Question Number : 44 Question Id : 1874634684 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The intercept form of the equation of the straight line passing through the point (4. -3) and
perpendicular to the line passing through the pomnts (1. 1) and (2. 3) 1s

Dot (4. —3) fooa Fdr, (1. 1) S00a50 (2. 3) DotbHose €8S Sk vowom God
WO BwE), woddpod rdo

Options :
x—4 y+3
1 |
L
X 1
__+..‘_—1
-2 -1
Lo N
. 6
3,
X V
_+*_=1
8
4.

Question Number : 45 Question Id : 1874634685 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

fx+2v—-3=0.3x+4v—-7=0.2x+ 3v—4=0and 4x + 5v — 6 = 0 are the equations of four
lines. then

A +2r—=3=0,.3x+4y-7=0.2x+3y—4=0 50050 4x + 5v - 6=0e0 T S5y
QaoEderre s, wdyd
Options :
they are the sides of a square
©d ol IS0 B, hadwen
1.

they are all concurrent lines

©d V) ©03E Dpew

2
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they are the sides of a parallelogram

W &8 PDr0aY ﬁ&d&&au o‘c‘mézr ghasanen
G

not all of them are concurrent

) T8S* o) vodgo 5

Question Number : 46 Question Id : 1874634686 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two equal sides of an 1sosceles triangle are given by 7x—v+3=0andx + v—3=0. If the
slope m of the third side 1s an integer. then m =

28 SS0BerTv @Behadn Bwg), S80S Hudne IDEEpdnen Tx—y+ 3 = 0 50dcin
X+y—-3=0.& 8ghz Jordd Hadn SuE oo m el Foossd, wdyd m =

Options :

3

-2

Question Number : 47 Question Id : 1874634687 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The pair of lines * 42 (7+m)xy+my" =0 lies along two diameters of a circle and divides

the circle into 4 sectors. If the area of bigger sector 1s 5 tumes the area of smaller sector.

Im
then =

(7+m)”

K+ 2(1+m)xy+my’ =0 o3 DIFVPrainifyo, w8 HHESwo BwE), Tod Tgdre IJowd
GOl ¥) & HNEW) TWIL VTRT IFBRION. WE WEH IToL WI) TR
im

T8 5 By & o8, 3 =
(7+m)

Options :
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Question Number : 48 Question Id : 1874634688 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The line 3x + 4v — 5 = 0 cuts the curve 23> + 31> = 5 at A and B. If ‘O’ is the origin. then ZAOB=

' o -] ki R s - = . : 4
3x+4y - 5=0edH 3660, 20° + 3H* =50l S5 A Bo 5§ 20dod. ‘O

V)
SroDod3sS, LAOB=

Options :

%

Question Number : 49 Question Id : 1874634689 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

collegedunia:

India’s largest Student Review Platform



The centre of the circle which passes through the vertices of the triangle formed by the
lines y=0. v=xand 2x + 3y =10. 15

y=0,y=x%50c0 2v + 3y = 10 3500l N3 Behzo SE, 0o DT FD
BB S[wE), Sodo

Options :

Question Number : 50 Question Id : 1874634690 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The distance between the polar of P (2. 3) with respect to the circle x> + 17— 2y —2y+1=0
and the polar of the inverse point of P with respect to the same circle 1s

2432 2x—2p+ 1= 0B Sdo SyTs P (2. 3) @b, (Gobpss 500050 e Sygio
Syxy P Bwg), 5% Dok BwE), GS0pH DFgie drdo

Options :

0
1.

4
5

|...-+
whll 9
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Question Number : 51 Question Id : 1874634691 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A circle S of radius 2 units lies in the first quadrant and touches both the coordinate axes.
The equation of the circle with centre at (6. 5) and touching the circle S externally is

2 Ghrdly TEFES0 Ho wf S)Fo S, IEBIES wobr ok ISFHTENOD
SRF0B. (6, 5) 58 Bogoss §0A, Sydo S erdrgom dyvod Syfo ), HL¥SwO

Options :

1 P2+ —12x—-10v+12=0

x+12-12x—-10y-20=0

1o

2+ -12x—-10v+25=0

2+ - 12x— 10y +52=0

Question Number : 52 Question Id : 1874634692 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the circles (x + a)* + (v + b)2 = @ and (x + ¢)* + (v + d)* = d? cut orthogonally. then
b(b —-2d) =

(x+a)+ (v + b =a%00 (x+ ) + (v +d) =d?e3d Sypen wondddo Bokod
ey b(b—2d) =

Options :
: c(c—2a)
c(2a—c)
2
d2c — a)
3.
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Question Number : 53 Question Id : 1874634693 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

; . . - “ .
The equation of the circle having the common chord of the circles x* +1°—8x =0 and

o g :
X+ v°—9 =0 as its chameter 1s

¢ S 7 2 g,
X+ —8x=0>00c50 x*+v* —-9=0

= o
Qe ET0

Options

2+ 2 —72x — 207

12

32x2+ 3292 - T2x—-207=0

¢ I
> S o5 e 2

_|..
s
2
e

0

i o TR

+ 72x—-207=0

(74

g&@;w A~

.

o]

ol

& AN aﬁséuﬁﬁ ROAS :’)ac_ﬂ‘:u BwE),

Question Number : 54 Question Id : 1874634694 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

The parametric equations of the parabola 1* — 8x —4y — 12 =0 are

12— 8x — 4y — 12 = 0 HorSechdn ok ST dah JSDo¥deren

Options :

x=2+2¢12
1.

x=2+4t
s 8

x=-2+2t
3.

=_2 +4¢
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Question Number : 55 Question Id : 1874634695 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For any non-zero real value of m. the equation of the parabola to which the line
mx — v+ 10+ m* =0 is a tangent. is

o TR B8 FRSSopg MBI, mx —y + 10 + m =0 o3 35BS ;%ciﬁmm EOHS

DTS00 DoB0

Options :
¥ =y —10
.
2=4(x-2)
2.
y2=—-4(y-10)
3
x2 =4y
4. ‘

Question Number : 56 Question Id : 1874634696 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

g, %
; - : -
The ellipse —+ ¥. =1(b > a) and the parabola v = 4ax cut at right angles. If e is the
Z 2

eccentricity of the ellipse. then 2¢> =

2 ¥
X A . " Bsciicn
s+—>5=10>a) o3 5%539%.‘:’}&3. y° = 4ax ©F Sodoofode oo

a

P0G 0E 0LOTYON. & 5%&‘339;0 SooE), &8 088 e wand, 2e’ =

Options :

1

l-~.ii||—II

12

o | r—
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Question Number : 57 Question Id : 1874634697 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

% g,
: : X .y :
Let a tangent drawn at any point on the ellipse T + E =1 cut the X-axis at O. Let R be the

-

image of O with respect to v =x. If S1s a circle with OR as its diameter. then the fixed point
through which the circle S passes 1s

2 2
2 2 _ :
+'16:1 e &qu)a@:ua QBT Dodoy 3§ ADS o8 NP X-os) O 38

-
-

| B I

5
POBRoBE 0T, ¥ =x Eyry O BwE), (R8Dowo RedFomo. QR argldom HOAS
Jso S o003, es Bo S, & %déﬁuéa.‘@ OB Feod.

Options :

1

(5. 4)

(4.5)

[

(0.0)

(0. 5)

4.

Question Number : 58 Question Id : 1874634698 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the normals drawn to the hyperbola xv =4 at (a;. ;) (i = 1. 2. 3. 4) are concurrent at the

(g +o, +a5+ay)

(By+ By + B3+ By)

point (a, b). then (o060 )=

V=4 085050drd8 (o B) (i=1. 2, 3. 4) DothvJo 3§ Hds edoowdyen (a, b)

(g +a, +o05+ay)

(B + 5+ B3+ By)

Do 3¢ wHdto wond, whykd (aa0a,)=

Options :
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—16b

1 a
—16a
, b
4
3.6
4a
, b

Question Number : 59 Question Id : 1874634699 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The distance between the orthocentre and circumcentre of the triangle formed by the points
(1.2.3).(3,—1.5) and (4. 0. -3) 1s

(1. 2. 3), (3. -1, 5) Sobasn (4, 0. =3) DoHHod DCIQE‘Q ©ghao BwE), wouBoE I8

000SH HOBoTrE WEg o drdo

Options :

=

Question Number : 60 Question Id : 1874634700 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The direction cosines of the normal drawn to the plane passing through the pomts (2. —1. 5).
(1.-3.4).(5.2.1) are

(2.-1. 5). (1.-3.4). (5. 2. 1) Dot Yo HoaFh $8er8 ADS whoowdy Bw¥), 68

Opt.il_‘ms:
¥ ~7 3
1 J179 179 179

2

13

-2
< E“m
N
-1
B
7]

=3
: J179 V179 V179

-

9 7
4 J134 /134 134

Question Number : 61 Question Id : 1874634701 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The equation of the plane 7 through the line of intersection of the planes ®t; = x+31—6=0.
and 1, = 3x—+42=01s Ty + AN, = 0. If the plane 7 is at unit distance from the origin. then

an equation of the plane 7 1s

My = x+31—6 = 0500050 M) = 3x—+4: = 0 03 dore G50 HoT I G dwo T BWE),
PaES0 Ty + AT, = 0. SoreDodod) $00d & deo N, o5ardE &rdos® 08, oo T
R, w8 Sddwo

Options :

2vh+27-3 = 0
1.

2x—1—2-43 =0

L2

2xty+2z43 =0
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x2y+2z+3 =0
4.

Question Number : 62 Question Id : 1874634702 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Let [x] denote the greatest integer not exceeding x.

[ 3
- . d _ ; COs X
If ;= lim (.\‘“ + [x]).h = lim (2,1‘—[:(]) and ;= hm .then
x—2* T x—=3 xoZ T—£
2 .
\ 2/
X8 Qo KH0Q Jrorokind [x] Srddoddosomro.
( 3
' : > : Sy o : COS X &
= lm (.T" +[.T]).L,= lim (2.1‘—[,1‘]) 000%0 = lim ©ONB, WIYE
x—2* . pag ] o W
e 5 .11. Ly
it
Options :
. B=a=h

h<h<h

12

L

Question Number : 63 Question Id : 1874634703 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. a—n)nx —tan x | sin z7x TR a ah "
If lim [( ) 5 | =0.(n # 0) then the minimum possible positive value of a
x—0 o

1S

[(}ar — 1) nx — tan x | sin zx

lim . =0.(n #0) ®on8, a & PFgodog D STEE e
x—0 X -
Options :

[ ]
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Question Number : 64 Question Id : 1874634704 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If a function f is defined by:
f(x) =0.whenx=1,
=x—1.when 1 <x < oo,

=x—1.when— o0 <x<1.thenatx=1. fis

£ (Fo%s
f(x) =0, x=1 o039,
=x-1. ] <x < oo sonIYL,
=x—1.— o0 <x < 1 wonIHL,
™ AEASB, x =158 f

Options :
continuous and differentiable
@Di’.’)ﬁ}é’@)&"xo 3500030 300
1.

continuous but not differentiable

@aa‘;@m, 5°0 @lfoldhdn 528

2

discontinuous and differentiable

E)i’.)&f‘ﬁlfm $00030 @I50005050

discontinuous and not differentiable

DDHBD 500 BSEOIID T

gcollegeduniaa

—



Question Number : 65 Question Id : 1874634705 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

11 3x— 13 -df
If cos( f(x))=—— and tan(g(x))=——.then — =
( ) 1o ( = 1-3x2 dg
v’ 3x—x _ 'df
CO{"(f(‘)) = 000%w tEIll(ﬂ'('\)) —— WOWB, Qgﬁj:&; =
1+x° 1—-3x° dg
Opltions:
3
-
&
14+x% +22°
_ @-3Y
2
3 3
Il+x3

(1+x%)(1-3x%)

Question Number : 66 Question Id : 1874634706 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

3 ) | 1 dT
If x*+y“=t—-and & +_1r4 =t e thien ==
t ;'- d’\
3 | g 1 ' ’, l £ ” # d.r
24yt =t—= So0asw x4yt =1+ wond, wiyd —=
. r f" [ dl.
Options
2
>
e
2
1‘3_1'
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Question Number : 67 Question Id : 1874634707 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If x =sin 8 and v = cos p#6. then .(1 - 1'3).1-2 =

® : ""
X =sin 0 508ain ¥ = cos ph ©and, ey (1-x7)y, =

Options :

' 2

XV —py
I

o

P V=X
2

AR %
5 "N

2

Py

4

Question Number : 68 Question Id : 1874634708 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If T is the length of the subtangent drawn at any point on the curve 3y = 4x° and N is the

length of the subnormal at the same point. then (3T )2 =

32 =42 S0P W Do 5§ ADS H)6) dgrpodo FEY T 50050 6B Dok

L =

- ” 2
:ﬁcé GoooPolo XrEY N o8, OIvE (3T) —

O
Options :

1 4 N2

4N

2
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Question Number : 69 Question Id : 1874634709 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

log (7 +x)
log(3+x)

The interval in which the function f(x)= (x> 0) decreases is

log(7+x)
log(3+x)

(x> 0) o3 Pochin ST Tnin oy woddhin

f(x)=

Options :

-
——
o

(0. 1)

(0. )

Question Number : 70 Question Id : 1874634710 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Let f be a polynonual function definedon [2. 7]. If f(2)=3 and | f'(x)< Sfor allx (2. 7).
then the maximum possible value attained by fatx=7 1s

[ [2. 7] d5%DES o8 wHosd HHhabo sdFomo. f(2) =3 $8c5» (2, 7) &%
©) X O, F(xX)S5 ©wond, o x=7 5¢ frodiio 288 K0Q Dewd

o/
Options :

l.'r

, 14
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Question Number : 71 Question Id : 1874634711 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the interval [-2. 4]. the absolute maximum of /(x) = 2x-3x>—12x+5 occurs x =

. T . sl g 4
[-2. 4] wodSos® f(x) = 2x3-3x2—12x+5 & H8%0 0% QS BFHOT X IS

Options :

, 4

L2

2

Question Number : 72 Question Id : 1874634712 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

cosdy+1 :
If dx=kcosdx+c . thenkis
‘cotx—tanx

cosdx+1 -
I dx=kcosdx+c @onsd. WIYPE k de0d
cotx—tanx

Options :

L-2
4._*
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Question Number : 73 Question Id : 1874634713 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

| j.ej‘x l:cos (3x+4)+5x° :Idx =

Options :
mE . £ S 5
e | —cos(3x+4)+—sm(3x+4)+ ——+—|+c
13 13 2 2 4
L.
2
%] 2 3 . 5 5% .S
| ZcosBx+4)——sin(Bx+ )+ —+—+=|+¢
13 13 2 2 4
| 2 . - 55 Sx 5
e | —cos(3x+4)——sm((3x+4)—- ————|+c
13 13 2 2 4
3.
4
| 2 , 5% 3x S
™| = cos(Bx+4)——sinBx+ )+ —— -2 4> |+¢
13 13 2 2 4
4

Question Number : 74 Question Id : 1874634714 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

[ Scotx+1 . |
If dx = 6log|f(x)[+11llog(g(x)|+c. then ( f(x). g(x))=
"(cot x—1)(cot x—2)sin” x /&) 2() n ( g(x))

- Scotx+1

— — dr=6log|f(.r)|+1llog|g(.r)|+c ©oNB, WIVES '(f(x). g(x))=
“(cotx—1)(cotx—2)smn"x -

Options :

(cot x—1. (cotx— 2)*1)
1

(cotx— 1)_1. cotx—2
( )

2

[ ]
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((cot X— 1)_1. (cotx— 2)-1)
3.

(cotx—1 cotx+2)

Question Number : 75 Question Id : 1874634715 Question Type : MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

- 7]
If Iy, = I-ﬁ’ml -x"dx, then Lot —L =
1 m

: . . i
B N R - S0 ) "
Iy, = [™ - x"dx wowd, ey Lo +—1

mn-1=

Options :

n mx

v R R 2 o

n _mx
X &

— =+
n

12

E]

Question Number : 76 Question Id : 1874634716 Question Type : MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

1
lim l[(;H +D(n+2)...2m]" =
N—co ]
Options :
|
1
0

1

: Yes Display Question Number : Yes

: Yes Display Question Number : Yes
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Question Number : 77 Question Id : 1874634717 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
bl . 9
J‘ 2 S X

dx=

0 SINX+COSX

Options :

1
%log(ﬁ+l)5

log(\E+1)

e

L2

&

Zlog(\/g+1)

. 3
& &
ﬁlog( _—1)
4,

Question Number : 78 Question Id : 1874634718 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

The area (in sq.units) enclosed by the loop of the curve m? = 1% (a—x). (a> 0) is

i

580 @? =22 (a—). (a>0) B 8500508 &

Options :

7
1 2ra“

L2

-

el

w9y (loop) B ITrego (¥.000008e)
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Question Number : 79 Question Id : 1874634719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

The differential equation corresponding to the family of curves v=¢* (A cosx + B sinx) 1s

v=2¢" (A cosx+Bsinx) o3 SEeo $twoardd efoihaioddy wifod Suddoo

Options :

yV'H'ty =0
1

y'+2y'+2y =0

12

2042y = 0

V'-2v'-2y =0

Question Number : 80 Question Id : 1874634720 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

. : . : dv y) .
The solution of the differential equation 1‘?= v—xtan| —| 1s
.3 X

(Here k 1s an arbitrary constant)

dv v
wS8od JEJ00 1‘-3-~=_1'-—xtm1(—‘~) oY), P&
X X

(26,8 ket ardyE R6 Sowg)

Options :
ORI k
Xx=vSm | —
X
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xsin v+ k=0
1
v=xcos(/ix)
4.
Physics
Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 1874634721 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A) : The number 0.00764 has three significant figures.

Reason (R): If the number is less than 1. the zeros on the right of the decimal point but
to the left of the first non-zero digit are not significant.

QEo (A): 0.00764 @ Jopges” Sk a“:f‘gé Sopgen Hod.

w0 (R): 25 Sopg Jend bl £oB $5)3596 &7o¥ DooHs SIS
08, I0EE HIGSE 0B IENJYS 08 DT I FYE Jopgen
5°3).

Options :
Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(A). (R) &0 Bodor 385350 08050 (R). (A) % TS e

Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(A). (R) en Bod> 58550 8 (R). (A) & 533 D580 5760

LJ

(A) 1s true but (R) 1s false
(A) g0 59, (R) ed8gsbw
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(A) 1s false but (R) 1s true

(A) 838550 579, (R) ddgdw
4

Question Number : 82 Question Id : 1874634722 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. . . . W . i o
A car moving with a velocity 6.25 ms™ is decelerated with 2. ﬁﬁ ms - (V' 1s mstantaneous

velocity). Time taken by the car to come to rest 1s

6.25 ms! 3rod FHH) 50 avednsn 2.5(vms? 58 KT8, TH TINS5
SENLH Hpsodn (BE)E v deneo 3K0)

Options :

ﬁ
2 3
1

L2

Question Number : 83 Question Id : 1874634723 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A bullet fired from a gun falls at a distance half of 1ts maximum range. The angle of projection
of the bullet 1s

a8 s Hod LS Hok T 108 Trgad” dfo &rdo S8 §odHAIE. WO dD

Doy P88 B0
Options :

4150
" 45

60°

=
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Question Number : 84 Question Id : 1874634724 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A body 1s projected at an angle of 45° from a point on the ground at a distance of 30 m from

the foot of a vertical pole of height 20 m. The body just crosses the top of the pole and
strikes the ground at a distance s from the foot of the pole on the other side of the pole.

Thens =

20 m JKiio o8 §8u00w J0Fo BRE), Bol FiidN S0od e o0& 30 m &rdolie ol
DoY) 00d o8 5P 45° © Fwod PEJo Tobadod. & SNY Jogo VLo
QPP ORN BT JoPoB ©ISOIY 0o 150d o Bod 5 ErSoS” v & HBOB.
®oNB § =

Options :

: 20m

30m

(=

50m

60 m

Question Number : 85 Question Id : 1874634725 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An explosion blows a stationary rock into three parts. Two parts of masses 1 kg and 2 kg

move at right angles to one another with velocities 12 ms™ and 8 ms™ respectively. If the
velocity of third part is 4 ms™!. the mass of the rock is

(wendd S0l Jovd R8S° Mo o8 Tow 3 griidwoor JEFondd. 1 kg Sodciw 2 kg
E550Hen Ko Bok Fidnes & TIFES vow HiwS® SEdm 12 msT 500 8 ms™
BSwed KoSoS® KoP. Jords ridn 3850 4 ms™ vond Tron (BS50°8

Options :

; 8 kg
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Question Number : 86 Question Id : 1874634726 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Four blocks A. B. C and D of masses 6 kg. 3 kg. 6 kg and 1kg respectively are connected by

light strings passing over frictionless pulleys as shown in the figure. The strings P and Q
are horizontal. The coefficient of friction between the horizontal surface and the block B

1s 0.2 and the blocks A and B move together. If the system is released from rest then the
tension in the string Q 1s

(Acceleration due to gravity = 10 ms

BSgorben S60dm 6 kg, 3 kg, 6 kg Sodain 1kgev fo A.B. CH00din D e el
O30 BIBS Trored’ DEPETE Euyw KM HLBNS® SrHILY G dSD.
P 50cd» Qoow 88z Jdroddom &amown. 88z JSarodd S8, &30 B § &g
w0 Hoso 0.2 Jbain A, B o3nes 08 SO0h. ;’ngﬁ‘g:&) &-@w%@ 008 5608
Tésn Q&S S35

($oSo8s Scdeosn = 10 ms™)

Options :

48 N
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Question Number : 87 Question Id : 1874634727 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A constant power of 7 watt 1s applied on a toy car of mass 15 kg. The distance travelled by

the car when its velocity increases from 3 ms™ to S ms™ is

15 kg ($3g078 o 28 &) 578 2 7 watt 'irgd rb*&cgg{ql RRFACDTE. TR RS0
3ms!Hod Sms & DOASHH 5 PASreBodS Srdo

Options :

! 56 m

7m

1

61 m

70 m

Question Number : 88 Question Id : 1874634728 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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A body A moving with momentum ‘P’ collides one dimensionally with another stationary
body B of same mass. During impact. A gives impulse ‘J" to B. Then which of the following

1s/are correct?

a) The total momentum of A and B is ‘P’ before and after impact and (P - J) during the

impact.

b) During the impact. B gives impulse of magnitude Jto A.

¢) The coefficient of restitution is

d) The coefficient of restitution is

-

L—

23

et

P

=

23

=41
P

Ao uf 509 P BSgies" SOhx ©B $55TE KON IPHoORES' @F) B u 367
5509 E DEDBADOMT WDHrSSD TodIB. wPirdo 20ALIYE ASKY BRI

R ESE0 EeoifBRod. @ond 1Bod TES* IB/AD JBIB/KVII?

a) ©@PSreVE Jwoth, SHTE A, B o dwdgo 85y S0 ‘P’ 00050 @IS0

20RLOYE SSg3ko (P -1T)

b) eddrso aa&ﬁéaéjcso B 5309 ASRNIHS® T J0Sreo o @S ) EeniiEZno0b.

" 2]
C) WEgHTS mso I:?—l]

d) ©egsys e [ﬂﬂ]
P
Options :
only a 1s correct
a SrEBad H0ewanNd

a and c are correct
andain cen é@:ﬁb

-2

b and ¢ are correct
b 500ain cen ST

only ¢ 1s correct
¢ SER VI

1 E
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Question Number : 89 Question Id : 1874634729 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the figure shown. the blocks have equal masses. Friction. mass of the string and the mass
of the pulley are negligible. The magnitude of the acceleration of the centre of mass of the
two blocks 1s (g - acceleration due to gravity)

SLENG' Brdwdd B Eigorden dSrdo. Ddw, TESN GSgore 0N E)
BRgoE D9 P0REARD. ok BINL |BR50°8 Sodo BN, $cde S0JrIN
(g-:”bé:e‘ﬁs :?.‘556535533)

-2
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A wheel of radius 8 cm 1s attached to a support so as to rotate about a horizontal axis

through its centre. A string of negligible mass wrapped around its circumference carries a
mass of 0.4 kg attached to its free end. When the mass 1s released. it descends through 1 m

in 10 seconds. then its moment of inertia is
(Acceleration due to gravity = 10 ms™)

8 cm ggo KOAS a8 Sigo, T Soiorom I §8= HBF0SE ©EO B BT
Qe &8 STTI8 DA0NESE. HOKB0DE B550°8 Heo w8 K& B0 oy Hogom
0, 8K Dodd TS5 0.4 kg (555073 BordbcbndiSe. ($530°80 S6055yd «b
10 W3Hhod* 1 mardo vidroo Boddd. wond ol addr Erdso

(odogs Scdeadn = 10 ms™>)

04kg

Options :

| 1277 kg m?

2.177 kg m?

-2

' 21.77 kg m?

" 12.77 kg m?
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Abody of mass 1 kg is suspended from a spring of negligible mass. Another body of mass
500 g moving vertically upwards hits the suspended body with a velocity of 3 ms™ and gets
embedded n 1t. If the frequency of oscillation of the system of the two bodies after collision

.10 ‘ . . :
1s — Hz. the amplitude of motion and the spring constant are respectively
T

DBPORENS |$5g0°2 o o8 @Yol Dod 1 kg B5go°e fo af SRY Bordboiwdod.
DLV Y™ (E8zoomorr) D8 DDS0ES 500 g (B550°8 Ho &8 SP BordbobadSd
55095 3 ms™ Bos* 5 wohe® 2WEFo0d. wPIrdo SHTE Todk Yo

10

5558 B0, Gl ZBYSge — Hz wond, Sod EodS H08 Sodaskn Ryof Forosten
T

hletSTan

Options :

5 cm. 300 Nm™!
1

10 cm. 300 Nm™!

2.

10 cm. 600 Nm™!
3

5 cm. 600 Nm™!
4

Question Number : 92 Question Id : 1874634732 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The gravitational field in a region is given by E = (51: +12j )ng" . If a particle of mass

2 kg 1s moved from the origin to the point (12 m. 15 m) in this region. the change mn
gravitational potential energy is

w8 B39 E=(51+12))Nkg ! fodegsim 3o o, & 3o’ 2 kg @gos fo
2§ $d0d o DoY) Hod (12 m. 15 m) Dok 8005 HEE; FBIHE
¥8S° Sor 80y

Options :

1 - 4501
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Question Number : 93 Question Id : 1874634733 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A uniform wire of length 10 m and diameter 0.6 mm 1s stretched by 6 mm with certain
force. If the Poisson’s ratio of the material of the wire is 0.3. then the change in diameter
of the wire 1s

10 m & 500050 0.6 mm Frghofe a8 868 S5 ef woo T8 6 mmIKETH. &
& dorgo Bwg, Frowes QG 0.3 vond © & JwE), TgSes” FTN Sy

Options :
1 108210~ m

108%10° m

1

10.8<103 m

1.08410° m

Question Number : 94 Question Id : 1874634734 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
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Two tubes of same length and diameters 4 mm and 8 mm are joined together to form a
U-shaped tube open at both the ends. If the U-tube contains water. then the difference
between the levels of water in the two limbs of the tube 1s

(Surface Tension of water at the temperature of experiment is 7.3%10~2 Nm™. angle of
contact = 0°, density of water = 1.0x10° kg m~ and acceleration due to gravity = 10 ms™)

4 mm H8c%0 8 mm Tgden, HIrS PEY Ho Tok Fiross Tok DSw 3O &)
U - 5780 Q0 63 o8 6 w8l Sodadss. U-FLo 8 804 wol, Yo
ol drared’ Ko A8 Dire HEy BT

(BRrE PSS 5& A8 Sodsgd 7.3x1072 Nm™, $y6)8*=0 = 0°,

A Fogd = 1.0x10% kg m™ H8adn K desimo = 10 ms™

Options :

3.65 mm
1.

36.5 mm

L2

0.365 mm

365 mm

Question Number : 95 Question Id : 1874634735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A uniform metal bar of length 10 m with a crack at its midpoint 1s clamped between two

rigid supports. The bar buckles upward due to a temperature rise of 40 °C. If the coefficient
of linear expansion of the metal is 25x107° °C-!, the maximum displacement of the mid

point of the bar is

g Do 3¢ Shen Ko 10 mPEY fo o8 JE68 S*5Y Somd) Tod Sy BT
D¢y Do, Godo FES 40 °C nHHL S0l ©d S0y DoddP 5¢ D& Bod.
S5 BY g 3758 Koo 25%107° °Cleand Sodo 0¥, Sa6g Docoh KOR oo

Options :

11.3 cm
.
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22.3 cm

L2

33.3 cm

44.3 cm

Question Number : 96 Question Id : 1874634736 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Three rods each of length */" and cross sectional area A’ are joined in series between two

heat reservoirs as shown in the figure. Their conductivities are 2K. K and = respectively.

Assuming that the conductors are msulated from surroundings. the temperatures Ty and T,
of the junctions in steady state condition are respectively

wE 8 >EY T, DFgHd JTogo ‘Ao Srd SEH EGeo SLBENS' SrdS
DEB0M @BJ0THH0S" Boks eictre Dy woGudSd. Eqe GRITTESS0eD

Sdm 2K, K 500050 % HOBEINOE GHSHo BY IPISNS* §fod K. JoEs

‘g&e_‘i‘ STelaSTS) :.‘Sc_:é T; 85w T, ﬁ@@ﬂéw B
Ty Tg
T, T,
100°c| 2K K E 0 °C
2
[ | /
Options :
600 oC. 400“(’
7 7
1
600 o 700,
7 4

-2

collegedunia

—



500 600

—o°C, —°C
; 6 5
600, 400,
4 7

Question Number : 97 Question Id : 1874634737 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two heat engines X and Y of same efficiency are connected in series in such a way that the
sink of X works as source of Y. X receives heat at 900 K and rejects some heat to its sink
at T K and in turn Y rejects heat to its sink at 400 K. then the temperature T 1s

DES SEdeo o X S0k Y ed Bok ajobogrod X Bng, idoricho Y @y,
G IoHomr HITHL) FSS* 0%, X abo@o 900 K 58 &) (frod, Fod &)
TK 3G o o $8o¥airds 500008, $30Y aho@o Fod &d) 400 K 5& Ko
o $SoFasirs DH0H T Dews

Options :

550K

600 K

L2

650 K

700 K

Question Number : 98 Question Id : 1874634738 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The specific heat capacities of an 1deal gas at constant pressure and at constant volume are
620 Jkg ! K~ and 420 Jkg™ K respectively. The density of the gas at STP is approximately

D6 HES0 B0 PE 0B HOSrBD 5§ e W) TAnY IIFY FHTHEo S/
620 kg K1 508050 420 Jkg™? Kl wons STP 5§ & a7aind Fodd Sodrdom

Options :

2.88 kg m™
1.
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4.86 kgm™
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3.88kgm™

1.86 kg m™

Question Number : 99 Question Id : 1874634739 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Three closed vessels A, B and C are at the same temperature ‘T’ and contain gases. Vessel A
contains only O,. B contains only N, and C contains a mixture of equal quantities of O, and
N,. If the rms speed of O, molecules in vessel ‘A’ is v; and that of N, molecules in vessel

‘B’ 1s v, then the rms speed of O, molecules in vessel ‘C" 1s

R &) A, BHddin Cr@en o8 aJiid ‘T' 58 Tranesd’ Jodad esaon. g
S* 800 0, g B &S* 800 Ny, g C S* 3508 D080 o O; Bdcsw Ny o

DEFS0 ¢od. AS' &3 OrvwmoYyo ms & v, BS® &8 Nywaodho ms 38 vy @ond

>

Ce&S'0 0) wedHo rms S8

Options :
Yl + 1'2
2

Vi

L2

=

. (viv2)

Vi
2

Question Number : 100 Question Id : 1874634740 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

gcollegeduniaa

el



Match the following List-Iwith List - II

List-1 List-1I

A) Transverse wave I)  Vibrations parallel to the direction of
propagation

B) Longitudmnal wave II) Vibrations perpendicular to the direction of
propagation

C) Beats Il) Superposition of waves travelling in opposite
directions

V)

Superposition of waves travelling in same
direction

D) Stationary waves

Bod adwés =rde -1 J, zde - II & 28358%5084.
=de -1 doe -11

A) 88g85 Sdoiio

B) w©o3dg ddoiio

SoOT e [ORPEHTR VA0SO GO
E0DT 0 [PAFEHIN oo™ GOl

C) 2%yodaren 55ETEBIS* PS8 Bborre ©TgEHeo

S 838°

D) {6 ddormren 28 OIS’ PWalrsdid) ddome wgrgdtheo

The correct answer 1s

JOGH DT SH0

Options :
A B C D
I I I IV

-2

Y I II I
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Question Number : 101 Question Id : 1874634741 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A police car moving at 22 ms™ chases a motor cyclist. The police man sounds horn

at 176 Hz. while both of them move towards a stationary siren of frequency 165 Hz. If
the number of beats heard by the motor cyclist per second 1s zero. then the speed of

motorcycle 1s
(speed of sound in air = 330 ms™)

28 FOD 5K ¥ Intrdd PES SoHSD) S8 22 msT & Jowdnoed. & FO
176 Hz & %650 @rhido:, & adds S%w%@@‘ fo 165 Hz >d:Jdgo o Do I
SOKTYDH. Db DEED S Boi) S58 € DES TO0S® ) DdyodTO Jopg HHg0
@owd rtrd DS Jio

(ros*® §¢d S& = 330 ms ™)

Options :

33 ms™!
1

22 ms!

L2

44 ms™!
3.

11 ms™!

4

Question Number : 102 Question Id : 1874634742 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When an object 1s moved along the principal axis of a concave mirror placed in air. the

mmage coincides with the object if the object 1s 50 cm from the mirror. If the mirror 1s
placed at a depth of 20 cm in a transparent medium. the image coincides with the object

when the object 1s 40 cm from the murror. The refractive index of the liquud 1s

mOS" Godadd o8 YLrsd B8P0 PWIFTE0 08 i SNV ESY IR, S
GSy00 5008 50 cm Srdoes® HNd ©H8Dowo SIS BEI0DIB. EByBi0s &8
FEEGE BS80S’ 20 cm STHS" GoNS, SNY S0 Wod 40 cm SrdoS” &Sy
©8Do20 FNHE AEFIoDIB. (G50 D), HBLSS Ko

Options :
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Question Number : 103 Question Id : 1874634743 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In Young's double slit experiment. light of wavelength 5900 A is used. When the slits are
2 mm apart. the fringe width 1s 1.2 mm. If the slit separation is increased to one and half
times the previous value. then the fringe width will be

050f 2ob DOE PYR-Kod, 850KBE g0 5900 A & &) 508 &IBrhomd. Bodk DO¥)
2 mm drdomr Gdayde $¢8 Ideny 1.2 mm &b V0 Dy Srovd) FO Dendto
2E8H8 BLK DoNB vk HE Ideoy

-8

Options :
: 0.9 mm

0.8 mm

12

1.8 mm

1.6 mm
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Two particles with charges + 3.72 uC and + 1.86 uC are some distance apart. If 20% of
charge 1s transferred from first particle to second particle then electrostatic force between
them 1s

+3.72 uC 508050 + 1.86 pUC esTzoid $00IS) Bok Endnen SENHTo Fod drdod®
S0, &L S $00d Bodd st 20% sTT) 280 TR, T ¢y Ko 20
QDG OBW
Options :

decreases by 12%

- 12% &g

increases by 12%
12% &0

1

increases by 4%
: 4% 800

decreases by 4%

4% S5
4

Question Number : 105 Question Id : 1874634745 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

ABC 1s a right angled triangle in which AB =3 cm. BC =4 cm and right angle 1s at B. Three
charges +15 uC.+12 uC and —20 uC are placed respectively at A. B and C. The force acting
on charge at B 1s

ABCw&sé AB=3cm. BC=4cm&dcin BiE vousmo 8OAS w8 vowo @00.
Sy esJzen +15 pC. +12 pC 5odoin 20 puC o S6dm A. B Sodcin Co 3§
%008 B i& do eddo D TR we0

Options :

1250 N
l.

, 3500 N
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A spherical capacitor has outer sphere of radius 5 cm and inner sphere of radius 2 cm.
When the mner sphere 1s earthed. its capacity 1s C; and when the outer sphere 1s earthed its

‘Cl

g |

capacity 1s C,. Then 15

o8 Ao 58 Bratd ol A¥o mgr&*é:&w 5cm 080 S°50 Ao mgr}g:ﬁw 2 cm.
&S00 ﬁ‘%’“@ S8 BODN &8 SFroddd Sl Cddoin 2o é ﬁﬁﬁ‘;’@ a8 EODHN e

3>rods 3 Cywand,

Lighe

Options :

TIIEE t2 |

L2

W | I

~—-l|'2.u-
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The charge on 4 UF capacitor. i the given circuit 1s

& $08 J0oibod® 4 uF 3>dL6 1 o ePdhwn

1 uF
| |
| |

| |
| |

5 UF

3 uF
G
| |
10V
Options :
24 uC
1.
100 uC
24uC
3.
, 30uC

Question Number : 108 Question Id : 1874634748 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A cell of emf ‘e’ and internal resistance ‘7" 1s connected across a variable load resistance R.
The graph drawn between its terminal voltage and the resistance R 1s

Qe ‘€7 HHda @ue‘é&iﬁ‘cﬁu o a8 Lo BYerdndtido R &oog), Bod §'5e STty
Sodwdod. ) wodgh.ges Joddkn TG0 R & Hdy Hiohwdsd [

Options :

gcollegeduniaa

—



\'

A%

!-J

Vv

>

-
S

/
L

4 R
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In a meter bridge if the left and right gaps are connected with 2 £ and 3 € resistances

respectively then the bridge is balanced. The resistance to be connected with 3 £ resistance
to get the balancing point at midpoint of the bridge wire 1s

b Dbty RS IBH DB 8 oot SHdm 2 Q Hdckn 3 Q ST
O3 D& SodeoSo wonSh. Boded Doy BF 8K @), B8y Dok 3§

0558508 3 Q ISFTIE SoIBONS JTEH®
gcollegeduniaa
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3 L) 1n series
3 Q @eSe5*

3 € 1n parallel

3 Q JSrosSom

]

6 € 1n series

6 Q @edes*

6 € 1n parallel
6 Q 3Sroddom

Question Number : 110 Question Id : 1874634750 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Magnetic field at the centre of a circular loop of area ‘A’ 1s ‘B’. Then the magnetic
moment of the loop 1s

(L - permeability of free space)

FTogo ‘A’ fo 5)EE0 8f ol Boo IE wobdod ZFo ‘B wand u 81 Dy
WO, 08 (P80
(Ko -'Ecosﬁguﬁ-‘éa"‘éu cﬁmé?: 3}6&0&3&)@&3)

Options :
"

BA~

HoZt

BAYJA

Hy

12

BAVA

Ho T
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Single Line Question Option : No Option Orientation : Vertical

A circular coil of radius 10 cm with 100 turns carrying a current of 0.5 A lies 1n a magnetic

field of 2 T such that the normal drawn to the plane of the coil makes an angle ‘@’ with the
direction of the field. Work done in rotating the coil to change the angle ‘@ " from 0° to
180° 1s

10 em &rg>rgiioo, 100 Soex, 0.5 ADdgs Has*Q) SO0YN) .8 [Es s 66 oy 2T
BSE Ko w08 FES B, Srithey Sosnss ADS Lonin wahdmos FSBIS
‘0’ §'0 DB, LS o ‘07 Jewod 0° ob 180°@komo Badnises* 20AS

~

<P

Options :
ntJ

2nJ

]

4 J

St
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The resultant magnetic moment of three magnetic dipoles. each of magnetic moment ‘M’
shown in the arrangement 1s

WNOES” Wrdadd wF)HE ‘M «chdnod grdso fo Jord wohbdnod Gghae
POS VALY 08 [EENE0

M

901‘3

Options :

I‘JEM

(VZ+1)M

L3

(V2-1) M

M

Question Number : 113 Question Id : 1874634753 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

gcollegeduniaa

el



A long solenoid with 2000 turns per metre has a small loop of radmus 3 cm placed inside
the solenoid normal to its axis. If the current through the solenoid increases steadily from

2

—

T
1.5Ato5.5Am 100 > the induced emf in the loop 1s

Qo5 2000 htw fo 8 FEIS FOTOG SHe " ©5°J8 oo 3 cm Fgé‘gu

Ko DF) o35 63D, POTaNES® HITRY) IS BTEro 1.5A%08 5.5 Aok

2

—_—

100

VB0ES JuEST Sordy Bodd, ardd” (WoSHdhy emf

Options :

; 0.144mV

0.288 mV

3.

g 0.072 mV

A 0.316 mV

Question Number : 114 Question Id : 1874634754 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the given circuit, the angular frequency of the voltage source is 70+10° rad s™.. The
circuit effectively behaves like

Bod Sodhod® P 2o @w), FBah FI:PIgin 70%10° rad s & Secho

Wrard o Qo (550008,

100 uH lll-IlF 10 Q
— ~
| | A AA
iy
L 25
AC source
AC 2580
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Options :
Purely resistive circuit

DO 36‘5‘&'@}5 ISTevele
bd

Series RL circuit

28 RL Secdho

12

Series RC circuit

; @8 RC Seoodho

Series LC circuit with R=0
R=08 [325 LC Secdo

Question Number : 115 Question Id : 1874634755 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A parallel plate capacitor consists of two circular plates each of radius 2 cm. separated by
a distance of 0.1 mm. If the potential difference across the plates is varying at the rate of
5x10° Vs, then the value of displacement current is

2 cm grgo Mo Bod HFTE Y Josew o 5088 Hoso BFRLES, Soso iy
&rdo 0.1 mm. Hodo K¢y FBIHE 3o 5x10% Vs~! 3ené® Soddr &od. TIod

e wh

QDS [PITT’0 DD

Options :

5.56 A
1.

12

228 mA

Question Number : 116 Question Id : 1874634756 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcollegedumaa
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Light of wavelength 488 nm produced by an Argon laser is used in the photoelectric effect.

When light from this spectral line 1s incident on the cathode. the stopping potential of
photoelectrons 1s 0.38 V. The work function of the cathode material 1s

ST O26e5* 2J00S 488 nm ééuﬁg%uﬁ@ 5°08Q 5708 Jhgs HOB0S® GORrhoTw.

& SGIL o Sood SYS 5708 e D 3830 DoBIDYE, 5708 JoFgdho B loynt
53'53210505_ 0.38 V. ®and 5°6'& ;’;a‘g ) @33“'.00‘530

Options :

1 2.16 eV

216eV

-2

216V

0.216 eV
4

Question Number : 117 Question Id : 1874634757 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the first excitation potential of a hypothetical hydrogen like atom is 15 V. then the third
excitation potential of the atom is

TS SESrwHOr G0l wf S 28 HESrand D), IsS 6828 FBIHSE
15 V wond o Sords 328 2BIHSE

Options :

1 136V

L2
"‘--..I
Lh
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Question Number : 118 Question Id : 1874634758 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

; ) . d ”
The energy released when one nucleus of , U undergoes fission is 188 MeV. The energy

. o
released when 100 g of , = undergoes fission 1s

£ U @), o8 Bogto D8 =0nSEyd 188 MeV ¥§ ddodorvso. 100 go 5, U
JNG 20ASOY a.)c.‘i:cﬁtucﬁ.,g é§

Options :

3.55x1012

7.71x10% J

12

Question Number : 119 Question Id : 1874634759 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The values of Y, and Y, respectively in the following logic circuit if both A and B are 1 are

RIcdS 88, Sochos’ A.Beo Bodr 1 wond YiHddn Yo Janden H8&dm

A o ‘T\
B S 2,/
P
Options :
{ 1.:1
1.0

1
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0.1

0.0

Question Number : 120 Question Id : 1874634760 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If E. and E_, are peak values of carrier and modulating signals respectively then for 100%
modulation

) I3 E. Hdasn Ep en

Eé_
Cx
&
£
A

T5E 00050 3}*&‘&5665 SohndS Soisre

ewonsd 100% ;’JJ“C’LSELL SDo0LE

Options :

B, =-&

W

=

L

Chemistry

Display Number Panel: Yes
Group All Questions: No

Question Number : 121 Question Id : 1874634761 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The work function (W) of Li. K. Mg. Ag and Cu are 2.42. 2.25, 3.70. 4.30 and 4.80 eV
respectively. The number of metals which undergo photoelectric effect if a radiation of
wavelength 540 nm falls on them 1s

(1eV=1.602 x 1071%))

Li. K. Mg, Ag. Cu © 39 Hebosren (W’O) Sare 2.42,2.25. 3.70, 4.30 550050 4.80eV. 540
nm e“éduf’@%u o D800 & S"Fo IEIZYE 5708 Igd VOSBo Dod S5 ROPY

(1 eV=1.602x1071°])

Options :

, 4

[
rJ

L

Question Number : 122 Question Id : 1874634762 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What is the mass of a particle with a wavelength of 3.313 A moving with a speed of
2.0 x 108 m 717

2.0 x 10°m 57 3K0&" SO0 3.313 A 850rBg g0 Ko Smo (BBg0"8 Jod?

Options :

1.0~ 10728 kg

2.0 x 10%kg

1

1.0 x 1032 kg

2.0 x 108 kg

Question Number : 123 Question Id : 1874634763 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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If the electronic configuration of M** is [Xe] 4£>. then M*™ is

M Bw§, Jogs dargdin [Xe] 4f° wond M 28?
Options :

: Nd*

5 Pr+

Sm?*
3.

T

Question Number : 124 Question Id : 1874634764 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Observe the following statements.

1.  According to VSEPR theory. CIF; and SO, are shown as AB,E and AB,E type molecules
respectively.

1. SF,has "See-saw" shape.

ui. HgCl, and PbCl, have same shape.

1B JXVedH H0IDoHID.

1. VSEPRBgoddn @5 ddw, ClF;500ai0 SO,08 S5 ABSE Sdaiw AB)ESEY
WL LT TIPDH T N0.

ii. SF,"dridne” e578os” &otwod.

ui. HgCl,&00a50 PbClyen o8 e5°07Q) 04 &odran.

The statements which are not correct are:
HOSHS DSSwen TAD DD?
Options :
1. 1 only
1

1. 111 only

13
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5 Lagin

, i, iii only

Question Number : 125 Question Id : 1874634765 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Observe the following molecules
C-').- N). qu F‘}
Which one of the following statements is correct for the above molecules?

Bod wenPHoN H0IOoHLIW.
C,.N,.0,.F,
D WHORN B0 JHOS® IB VODSE?
Options :
They exhibit same magnetic property
1 ®d) 2.8 ©oHA, 08 QST&SQ &80

They have same number of bonding molecular orbitals and same number of antibonding
molecular orbitals

DT 2204 e s.-s%é.rei@. 000D VSN He0iE e @5;&.?6{;;63 o) éé’g € 0oLI0N
5 8

The sequence of molecular orbitals 1s as follows
SES” wew wO)rg) BEodw (Bod dFomr wotod

3

O")p: <(21'3p1 :ﬁzpjl) < (}I'sz :ﬂ'zp. ) < 0-2 !

Fs v

They have same bond order

IS JSSrd oPHEDSN0EN0H
4

Question Number : 126 Question Id : 1874634766 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The ratio of rates of diffusion of gases Aand Bis 1 : 0.707. If the molecular weight of B 1s
32. the molecular weight of A is

A.Bsroine o7gas Jndne 38 1:0.707. B >roing weagrdo 32 @wans, Awmgrdo

Options :
#

l —

, 64

16

Question Number : 127 Question Id : 1874634767 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following are non-metal displacement reactions?
80d TES* 0SS Fod Sbgen AD? (s =S, 1=8, g= &, aq= zo)
(A) Ca(s) : 7 ZH;,O(O =y C&(OH)Z(W " | Hj(g)
7 il A -
(B) 305{5] i SCa{s) —_— 2V S)TSCRO{S)
' | A

' A
(D) Cr203(5) + ZAI(S) —"9‘41203{5) + ZCI{S)

Options :

: A.B.C.D

B. Conly

L-2

C.Donly

" A.Conly
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Question Number : 128 Question Id : 1874634768 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Match the following.

A)
B)
0)
D)

Sod

A)
B)
©
D)

List-1
AU=W 4
AU=g-W
AU=—q
AU=o0

TEQ 2SIBLTHLAW.

e - 1
AU= “rgggg
AU=g-W
AU=-—q
AU=o0

The correct answer 1s

PO SSrT o

Options :

A

V

L >

o

o

B € D
I o0 I
B L B
I o N
2 X I
V I I
B € D
Y W

s2g8°

= Z

V)

List-1I

Isothermal reversible expansion
Wall 1s adiabatic

Thermally conducting walls
Isolated system

Closed system

zde - 11

Q3rQs t‘frlf:a’&;’m*SQ“iJ T8 eSS0
%5‘@5 e

SQTTE Fdew

DI DgS

RodyE SgHw
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Question Number : 129 Question Id : 1874634769 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

18.4 gN,0O, was placed in 1L vessel at 400 K and allowed to attamn the following equilibrium
N204(g) = 2NOy(y).

If the total pressure at equilibrium was 10.64 bar. approximate Kp 15
(R=0.083 L bar K'mol™?)
(Assume N,O,. NO, as ideal gases)

400 K58 18.4 gN,0,4& 1L @8S” oD §od S0a7n88 odigdo 208h0d.
NyOy) == 2NOy

RaERE 5¢ 3go 2650 10.64 bar wond K Qo0 oardomr
(R =0.083L bar K-'mol)

(N,O,. NO, esdd)aroinger @ ehsHhdw)

Options :

| 57.20

24.24

L2

, 14.30

, 6.64

Question Number : 130 Question Id : 1874634770 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the pH of a buffer solution contamning 0.1 M of monoacidic base and 0.01 M of its salt 1s
10.5. the pKa of conjugate acid 1s

0.1 M 28 es08 52650 $00ane 0.01 Mol ededn fo 258 @0l pH 10.5 wons
Sofd wddn pKa deod

Options :

9.5
L.

4.5

9
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Question Number : 131 Question Id : 1874634771 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Three vessels (A. B. C) contain H,O, solution. In vessel A. 500 mL of 10 vol H,0, 1s
present. 100 mL of 30 vol H,O, 1s present i vessel B. Vessel C 1s filled with 250 mL of
2M H,0,. The weight (in g) of H,O, present in these vessels follows the order

S r@o (A.B. C) & Hy0, mddnd)d. @ AS® 500 mL o 10 vol HyO, 65)8.
&€ Bs® 100 mL © 30 vol H,0,&56. @ C&o 250 mL o 2M H,0,&° Jordh. &
FFos*® S8 Hy0,a60 (g 0&) SBo 5050

Options :

1 C>A>B

C>B>A

]

B>A>C

A>B>C
4.

Question Number : 132 Question Id : 1874634772 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify correct statements from the following:
1. Beryllium oxide is an amphoteric oxide.
1.  Group II elements dissolve in liquid ammonia to form deep blue-black solutions.

ii1.  The hydration enthalpy of group II ions decreases from Be?* to Ba>™.

Bod T°8S* J0GDS Dddwod KHfothidw.

1. B0ODo EEEJS 2.8 B0 S &53)5

i, ) I Srosra ($5 o3mOoirs” 00 Sndhd -Sel @ SerodFon
i, @) Heodrso @IS Jomdy Be?* S0 Ba® % 865808

Options :
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1. 11 only

i1, 111 only

L

1. 11 only

1. 11. 111

Question Number : 133 Question Id : 1874634773 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Identify correct statements from the following.

1. H,BO, is a monobasic acid.
1.  The correct formula of borax 1s Na, [B,O.(OH),] 8H,0

1. NaBH, is a reducing agent.

Bob TBS* SO
i.  H,BO,e8 D8 5988 es80
i, $'0°E) Book), HOFS FEnye° Na, [B,05(OH),] 8H,0
ili. NaBH,e§ §o088m s°8850

g9
£A
X

{
e
'é&
o
LC
C
{i}
58«

Options :
1. 11. 111

1. 11 only

L2

ii, iii only

1. 11 only

Question Number : 134 Question Id : 1874634774 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Observe the following statements regarding C,.

i.  All carbons are sp” hybridised

1. It contains 12 rings of five carbons each and 20 rings of six carbons each

u1. It is a non-aromatic compound

v. It 1s pure form of carbon

v.  C-C bond lengths in 1t are 143.5 and 138.3 pm

vi. Itis prepared by heating graphite in an electric arc in the presence of oxygen

Cgp B0 S020800 1508 ISGwOI H0O0wE®.

L ©d) sESe spHosbEtomo BobBD

. OS* PEIAS' 0 sHoen o Sedires 12, PErds® sl o Ho Sodiren
20 &saow

. 20 af PR-I6°H50~¢SS 533&@'?65&)3

V. 20 DO TG

v  B5'Q C-C 208 Sroren 143.5 508050 138.3 pm

i B30 sdps SIS’ (MRS IdgaHos AT SairdHBARG

The correct statements are
ROSNN DBGoen AD?
Options :

| 1. 11 11 IV, V

i. 11, 1v. vonly

L2

1. 1. 1v. vi only

1. 11, 111 only

Question Number : 135 Question Id : 1874634775 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Identify the correct statements from the following:

1.  Inthe presence of UV light. CF,Cl,(g) gives chlorine free radicals which will react
with O;(g) to form O,(g)

1.  Drnnking water with 10 ppm fluoride 1s better than drinking water with 1 ppm fluoride
1.  The maximum permissible concentration of lead in drinking water 1s 50 ppb

Bod TES® 0GRS SO NBoEod

i UVsod 580", CF,ClL () §68 Rgan@8i8soi 208, & ) @asasen
O, ()& SE6gT08 O, (57)H adgow

ii. 10 ppm JT&Hh0 |@HID, 1 ppmPTE Jo (@8 $08 Soodd

. |0A8S® B& HOQ mEE 50 ppb ™ ol

Options :

1. 11. 111
L.

1. 11 only

-2

ttttt

Question Number : 136 Question Id : 1874634776 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following conversion represents Fries rearrangement?

Bod 8BS 2 .‘.:13‘63& @8 JB5EL0085 Sg80 Do%00?
Options :

O-acylated phenol to C-acylated phenol

0-22888 26 D08 C-IBBE vaS
i

C-acylated phenol to O-acylated phenol
C-028886 958 08 0-28BE LS

"
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N-acylated phenol to C-acylated phenol

3

C-acylated phenol to N-acylated phenol

N-JPBBE D6 08 C-IpBBE oS

C-228886 S H008 N-22888 S

4

Question Number : 137 Question Id : 1874634777 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What are X and Y 1n the following reaction?

, . |
Hex — 2 —ene—=3 QOzonide

Bod $UgS* X, Yen 227

T§2—65—2 5620

Options :

%
CH;CH,CHO

X
CH;CH(CH;)COOH

L2

X
CH;CH,CH,CHO

X
CH;CH(CH;)CHO

» X+Y

XF
(H;C),CO

.
CH;COOH

”

CH;CHO
.

CH,CHO

Question Number : 138 Question Id : 1874634778 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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What are X and Y in the following reactions?

Bobd Sdgees® X. Yeo 22?7 (conc =md, dilute =28%)

NO, . SO;H
QY
Bode
Options :
X b 4
~ Conc.HNO; H,S0,(S0;)
X L'

Conc.HNO,; + Conc.H,S0O,/333K H,S04(S0O;)

12

X Y
NaNO,/HCl H,S0,
3:
X Y
, Dilute HNO, SO,

Question Number : 139 Question Id : 1874634779 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements are not correct?

(A) Diode is a combination of n-type and p-type semiconductors
(B) Silicon or germanium 1s electron rich impurity

(C) Phosphorous and arsenic are electron deficient impurities
(D) Schottky defect decreases the density of the crystal

& 808 JSCOS* IS TID ID?

(A) &B>r& n-G8o, pUto WITTT O SOoNES Gotwod
(B) %ds% S Eﬁé(bdi}fﬁ Qﬂgﬁw wfofie NS0
(C) 203, s JoFe FId &&) HOTw

D) & &S0 B0 TSR SN0

Options :
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B.C

A.D

12

SR b

AC

Question Number : 140 Question Id : 1874634780 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

At 298 K. the vapour pressure of a solution of 7.5 g of non-volatile solute in 90 g of water
1s 2.8 kPa. If 18 g of water 1s added to this solution the vapour pressure becomes 2.81 kPa at
same temperature, the molar mass of solute in g mol™! is

298 K55G 90 g&&S* 7.5 go wardyio @do fo @dmo erdyudso 2.8 kPa. 8 &is
3¢ & @8 18 gk odm erlyadso 2.81 kPa wand (ddo Irerd (Ghg03

g mol~ o&*

Options :

. 298

68.2

L2

74 [

51.8

Question Number : 141 Question Id : 1874634781 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

At T(K). the vapour pressures of pure liquuds A and B are 100 mm and 160 mm respectively.

An 1deal solution 1s formed by mixing 2 moles of A and 3 moles of B at the same temperature.
The mole fraction of A and B 1n the vapour state respectively are

T(K) 3§ A. B &8 Goro wégfada‘*w S&&m 100 mm. 160 mm «3 SIS 58
23rdo A 0000 3 3rdo B Sl wf sd)@bmo J6)808. R8st A So00io

Beo 3rd prren SO
gcollegeduniaa

—

Options :



1 0.706. 0.294

0.294. 0.706

-2

0.40. 0.60

£ 0.60. 0.40

Question Number : 142 Question Id : 1874634782 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In which of the following cells. the space between cathode and anode 1s filled by a moist
mixture of ammonmum chloride and zinc chloride

& 1808 Dreds® FAS® 5°6°6 oo e s &g SoQ c"guu $& I S:BL&. e
20§ §080 WEF0E A0& Golnod
Options :

Mercury cell

30&2},56 280

Leclanche cell

5700 2080

-2

Nickel-Cadmium cell

FRS-58)5H5 Hrt0o

Fuel cell

Q0468 Lo

Question Number : 143 Question Id : 1874634783 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The rate equation for the reaction

2A + B — products 1s

rate=k [A] [B]*.

If kat T(K) is 5.0 x 109 mol1%s7. the mitial rate of the reaction. when [A] = 0.05 mol L
and [B]=0.1 mol L is

2A +B - gdiraagen.

& g T DabESeatn

3 =k [A] [BI2

T(K) $& k =5.0 x 10° mol L% wow& [A] = 0.05 mol L1, [B] = 0.1 mol L e
SSINE B0 Sorghian

Options :

1.25 x 10° L mol L1 5!
1.

1.25 x 10 mol L &1
2.

2.50 x 10° mol L s
3

) 2.50 x 10° L mol! !

Question Number : 144 Question Id : 1874634784 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following statements is not correct?

Bod TEBS* I SO DBGed E?

Options :
The process of settling down of colloidal particles 1s coagulation

Forond Serer @ obibaymIs B0 POIB HEa & 0880
1
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The mass in milligrams of lyophilic sol which protects the coagulation of 10 mL of a
gold sol on adding 1mL of 10 % NaCl solution is its gold number

10mL F#$r&% 1mL 10 % NaCl rikeo $0085yd 204 & 0ddo Hod H0880ETR8s
©SIEHHGy ORrHOE S IR |BSgT°E0 WYrines® T K'Y Sopg wolrd

2.

The layer of positive or negative charge acquired by selective adsorption of 1on on
the surface of a colloidal particle 1s electrokinetic potential

§'rand §00 40800 Semd)8 WHT R0 PIBHS” VWRTRTRAS walralo
SITF08 XY FTATA) BT DerAed) IS K8E FTICHS volrd

The potential difference between the fixed layer on the colloidal particles and the
diffused layer of opposite charge is zeta potential

?@ﬁmﬁ gegrow o ?oq}da’aeae.w R N005W IV0S Do W o &')d}ﬂé BITO
Ggho FBIACHE o) £ FBJYHSE wolrdd

Question Number : 145 Question Id : 1874634785 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statements from the following:

1.  Inthe extraction of Ag and Au. zinc 1s used as reducing agent.
1.  Impure zinc can be refined by distillation method.

1. Malachite is an ore of nickel.

Bod JSCweS” J0HS TEI Hfothdw.

1. Agdodcin Aue JoiTrod®, Lo §ohEdn P80 GOBrAR®
il 5008 2ol WSS HG8S* FESo IR

. J8S B Swd pI=idn Srosd

Options :
1 1. 11, 111

1. 11 only
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i 1. 11 only

Question Number : 146 Question Id : 1874634786 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

White phosphorous reacts with sulphuryl chloride to form PCl; and X. Chlorine reacts
with X in the presence of wood charcoal to form Y. X and Y are respectively

YR, HomBS §BES 65T PClS00cn X o dG6ies. g SHgos®
5§05 X & $565508 Y& dydohd. X So0ahno Yeo $&Hdm

Options :

- S0,.80,Cl,

SO,.SCl,

L-2

SO,. SO,CL,

S0,.SCl,

Question Number : 147 Question Id : 1874634787 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify the correct statements from the following:

1.  Sulphuric acid 1s manufactured by contact process.

. SO, dissolves in H,SO, to form pyrosulphuric acid.

ii. H,SO, is used in the manufacture of fertilizers such as ammonium sulphate and super phosphate.

v.  Inthe reaction S+ 2H,SO,(Conc.) — 3S0,+2H,0. H,S0O, 1s oxidized to SO,

Bod ES” JOGDS Jddosn HHodw.

1. éw&g&ﬁ @3rQ) ) (?u:‘-_rg) ﬁgt’aeﬁ‘ SSrEHBI D

ii. SO; H,S0,&" 500 28 3ams88 s NIAGERS

. ©3Acho 5560)&5' S08a8n JrdHE 3"'5;0‘)65' orod] Yo 58 H,S0, & &ITrndd.
iv. S+2H,S0,(™&) — 380, + 2H,0. $83&* H,S0,. SO,m w8880 oo

Options :
1 1. 11, 111, 1V

1. 11. 1v only

)
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1. 111, 1v only
3

1. 11, 11 only
4

Question Number : 148 Question Id : 1874634788 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Assertion (A): Helium has lowest boiling point (4.2 K)
Reason (R):  The forces that exist between Helium atoms are weak dispersion forces.

AHSI0 (A): TOchod wdg) Tray@ss o (4.2 K) Sodb.

eddn (R): do HESrande DEgd wowrs Jghn weoren S0

The correct answer 1s

DOSS SSrTSo

Options :
Both (A) and (R) are correct and (R) 1s the correct explanation of (A).
(A) 500050 (R) &0 $005D $00an (A) % (R) 20808 D50

Both (A) and (R) are correct and (R) 1s not the correct explanation of (A).
(A) H8c5n (R) eo 306305 5°Q (A) S (R) D050 D58 57650

12

(A) 1s correct but (R) 1s not correct,

(A) S8G036 572 (R) S0GL36 5

(A) 1s not correct but (R) 1s correct.

(A) 385058 5°% 50 (R) 5050358

Question Number : 149 Question Id : 1874634789 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following reactions does not take place?

Bod Sgos' A8 adiid? (s= 0 ; aq= 2o)

Options :
gcollegeduniaa
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2CuS0y4(aq)+4KI(aq)——2Cul, +2K,50,

2CuS0y(aq)+4KCl(aq)——2CuCl, + 2K,S0,

O ]

CuSOy(aq)+ Zn(s)—— ZnS0O,(aq)+ Cu(s)

2 CuSOy4(aq)+4KF(aq)—— 2CuF, +2K,S0,

Question Number : 150 Question Id : 1874634790 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The stepwise stability constants of a complex are given below. What 1s its overall reaction

stability constant (3,)?

28 Do8d0 woRdoad POEc QTS e (508 aﬁsmwm. T 0G0 WG RO0SC RT 05N
o 8) & & v — e @

(B4) JOER?

M+Lz ML: K, =1.0x10*
ML+L 22 ML,: K, =1.0x10°
ML,+L 22 ML;: K; =1.0x10°
ML;+L 2 ML,: K, =1.0x10
(Overall reaction : M+4L =2 ML)
@do 85 : M+4LZ22 ML)

Options :

: 1.0 x 1012

12.1 % 10°

-2

1.0 x 10°

1.0 < 108
4.
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Question Number : 151 Question Id : 1874634791 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Number average molecular mass of a polymer that contains 15 molecules with each of
mass 8.000 and 15 molecules with each of mass 80.000 1s

wf POKES oEYE won BS5o2 8.000 Ko 15 emogen, af)E wmod BS508
80.000 o 15 wewPhen GHond, & FONE Jfdn Jopg wen |ES0°2

Options :

1 22.000

33.000

o ]

11.000

44.000

Question Number : 152 Question Id : 1874634792 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following statements are correct?
(A) A tripeptide has two peptide bonds

(B) A pentapeptide contains five amino acids
(C) Nucleotide is a product of base and sugar

(D) In cellulose. B-glycosidic linkages are present

8o TES* OGS DBGwen DD?

(A) & %35@ Doy Gg& 20T LV OLTON
(B) ”@0@*"&%&6“ GOV IS BIT 00T 0N
(C) SrgE@r8a, srdo Sodoin U8 o &8Nk
(D) Dengs*Es® BASRAS worrevayow
Options :
1 B.C.D

C.D only

g
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A.B.D

g A.Conly

Question Number : 153 Question Id : 1874634793 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Identify antihistamines from the following

Serotonin Dimetane Phenelzine Seldane
| 2 3 4
Bod F8S* dirodirdlso Hiotod
ES TSNS IS A8 EDOEE 23S
| 2 3 4
Options :
1. 3 only
1.
i 1.3.4
2. 4 only
1.
2.3
% % A

Question Number : 154 Question Id : 1874634794 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

X R

Identify Z in the reaction iy
WEST Z &0 8osod

(Anhydrous = dgeo; dry = 28&)

Options :

RCOX/Anhydrous AlCl,
i,
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RX/Na/dry (C,H;),0

2.

Na/dry (C,H,),0
3.

, RCOX/FeCl,

Question Number : 155 Question Id : 1874634795 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What are X. Y. Z 1n the following reactions?

Bod Sdgods” X Y. Zew QD?

OH
|

CH, — CH—-CH; —=—CH, —CH=CH, +H,0

CH, - CH, -OH—Y>CH, = CH,+H,0

CH;
|

CH, -C-OH—2-CH,-C=CH,+H,0

|
CH,

Options :

%
H,S0,. 443K

X
85% H,PO,. 440K

-2

X
20% H,PO,. 358K

|
CH;

&T"
85% H,PO,. 440K

Y‘r
H,SO,. 443K

-
H,SO,. 443K

Z
20% H,PO,. 358K

Z
20% H,PO,. 358K

Z
85% H,PO,. 440K

gcollegeduniaa
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X X Z

H,S0,. 443K 20% H,PO,. 358K 85% H,PO,, 440K
4

Question Number : 156 Question Id : 1874634796 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What are X. Y and Z 1n the following reactions?

Bod SEges® XY, Zeo J2?

» 5@
(H;C),C—ONa+CH;CH,Br—— X +NaBr

- c®
(H;C),C-Br+CH;CH,0Na—— Y +Z

Options :
% ' z
(HsC),C—Br (H5C),C—OH CH,CH,Br
1.
X Y Z
CH;—C=CH, (H,C), C— OCH,CH,; laBr
|
CH,
X Y z
(H,4C),C~0~CH,CH, CH;4 -0, CH,CH,OH
CH,
3.
X Y z
CH; -CH-CH,0H CH; —CH-OCH,CH; NaBr
| |
CH; CH;
4

Question Number : 157 Question Id : 1874634797 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
gcollegedumas
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Structures of cinnamaldehyde (I). salicylaldehyde (IT) and vanillin (I1I) are

2Srd e (I), FORogers (1), 00 (III) © Jopsomen

CH,CH,CHO

2

I
U CH=CHCHO

12

I
O CH=CHCHO

CHO

OCH,

@ CHO
OH

X,
OH

CHO

H.CO
OH

CHO

HO

Question Number : 158 Question Id : 1874634798 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the following are oxidized by NaOCI?

Bod 508e* NaOCl &° Eﬁ%jéﬁzau BOBD ID?

H CH
N / 3
i Je=€_
RCH(OH)CH, RCH,CH,-C-CH,CH, R -COCH, CH,CHO H;C COCH;,
I I i \Y v
Options :
1 LIOLIV.V
L LILII
3 ILIV.V
I IV
4.

Question Number : 159 Question Id : 1874634799 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Benzaldehyde on heating with concentrated NaOH gives

Board 6o m¢ NaOH & 383 % D6yhss (D)

Options :

O
QCH=CH-co©
© &
QCHZOH. Qcoom
o &
@—OH @—CHECOONa

l-2
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Question Number : 160 Question Id : 1874634800 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

The reaction

AN,Cl+Cu+HCl—— ArCl+N, +CuCl 1s known as

AIN,Cl+Cu+HCl—— ArCl+N, +CuCl &8s d008rd?

@ 6

® O

Options :

1

Swarts reaction

S ARH

Gatterman reaction

Sandmeyer reaction

Fo&HoahE $8g

Stephen reaction
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